NOTRE DAME HOLY CROSS HIGH SCHOOL, MOHARPARA
Class V Science
Chapter 2 Food and Health
Page 25

Tick the correct answer:
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Complete the table:
Carbohydrate= Cereals, pulses, sweet potato and sugar
Protein = egg , meat, fish , milk

Vitamin A = mango, papaya, tomato , butter
Vitamin c = pulses , amla, citrus fruit , sprouted grains

Iron = carp, crayfish , eel and lobster

Match the columns:

Vitamin A(Night blindness)(patient cannot see in dim light)
Vitamin B 1(beriberi)(affects the nervous system)

Vitamin C (scurvy) (bleeding gums)

Vitamin D (rickets)(bones become soft)

lodine (goitre)(a gland in the neck region swells up)

Fill in the Blanks:

1) Balanced diet, enough rest
2) Roughage

3) Outdoor

4) Typhoid and cholera

5) AIDS.

Write Short Answers(Page No. 26)

1. Ans Adisease caused by a lack of essential dietary elements and especially a vitamin or
mineral.
2. Ans Anemia



Ans A communicable disease is one that is spread from one person to another through a
variety of ways that include coughing ,spitting or sneezing.

Ans Diseases like typhoid, cholera, diarrhoea poli and jaundice.

Ans mumps, meningitis and measles

Answer these Questions : (page 26)
Houseflies spreads diseases by breeding in pond water and by using on any food items .

Water must not be stored in buckets or in large containers.

If water is stored in the containers then don’t forget to cover it.
Avoid stagnant water.

Dirty water must not be kept in container for days.

Mosquito sprays must be used.

Mosquito nets must be used.

Stay away from infected person or wear mask to contact with that person.
Always wash your hands before eating food to avoid the spread through hand contact.

By using masks.

By proper sanitisation.

By maintaining distance from the infected person.

By not using the clothes ,Toothpaste or anything used by the infected person .

Pasteurization is the process of heating up milk and then quickly cooling it down to eliminate
certain bacteria present in milk .

Raju is suffering from scurvy .

Scurvy is a disease caused due to deficiency of Vitamin C . it is the disease that leads to
bleeding gums and joint pains . Later, it can cause hemorrhage and increased chances of
‘iron deficiency anemia ‘.

Its Remedy is supplementation of vitamin C . The increase of lime products in a meal helps in
quick healing of disease . Vitamin C supplements and syrups are necessary in case of a
diseased person .
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Class 5
English grammer
Chapter 3
Subject and predicate
e Whatis a subject? Give example.
Ans: The part of the sentence which names what the sentence is about is called the subject.
Example.
e Ritu lives in a big house.
2. On the table lay all his books.
2. What is a predicate ? Give example.
Ans: The part of the sentence which says something about the subject is called predicate.
Eg. Ritu lives in a big house.

A big oak tree stood in a corner of the yard.

D. Underline the subject in the following sentences.
1. The travellers stopped several times to take refreshments.

2. All the menbers of the team played well.

w
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ainst the wall stood a long ladder.

4. The leader of the party went alone to the top.

5. My ambition is to become a heart surgeon.

6. These children’s favourite indoor game is chess.

7. Do not speak ill of anyone.
8. Most people in the countryside lead a simple life.
9. Who brought these beautiful flowers?

10. On the table lay all his books.

E. Column A and B.

Column A column B
1. All insects have six legs.
2. Children are fond of asking questions.

3. A good student is always punctual.



4. None of us heard the telephone bell
Ringing.

5. Life in the hills has its own charms.

6. Indian farmers  are hard working people.

7. Very few trains halt at these small
Stations.

8. A long train journey can be tiring.

F. Supply the subject in the following sentence. If no sentence is needed, put x

1. Trees

2. Teacher’s Day

3. Rabbits

4. Weather.

5. Sri Lanka

6. x

7. water

o

. Supply the predicates in the following sentences.
1. The clock Kept ticking

2. A large crowd of people gathered in the church.
3. Itis very hot.

4. Walking on the beach is very cold and pleasant.

5. My paintings looks very beautiful.

6. A cool breeze blows from the oceans.

7. The Brahmaputra is the largest river in the world.
8. The snake bite a girl.

9. Snow falls during the winter.

10. The statue of liberty is found in new york.
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Operations on Large Numbers

Properties of Addition and Subtraction
* We can add numbers in any order. We will always get the same sum,

For example,a+b=h+a
42,34,554 + 56,90,234 = 99,24,788 = 56,90,234 + 42,34,554

» When we add more than two numbers, we can group numbers in any way. We will
always get the same sum.

Forexample, ([a+h)+c=a+ (b+c)
(12,74854 + 16,99,434) + B,34890 = 29,74,288 + 8,34 890 = 38,09,178
12,74,854 + (16,99,434 + B34,890) = 12,74,854 + 25,34,324 = 38,09,178

» When we add 0 to any number, we get the number itself.

e When 1is added to a number, we get the successor of that number.
* When 0 is subtracted from the number, tne uitierence is the number itself.
» When a number is subtracted from itself, we get the 0 as the difference.

* When 1 is subtracted from a number, we gat the predecessor of that number.




Adding 7,57,92,865 and 3,42,49,495, we get 11,00,42 360,

T € TL L TTh Th H Al 0
1 1 1 1 1 1 1 1
7 5 7 9 2 8 6 5
+ 3 4 2 4 9 4 9 5
1 1 0 0 4 2 3 6 0

Adding 3,46,79,032 and 2,74,56,989, we get 6,21,36,021.

C T L Trh Th H T 0

1 1 1 1 1 1 1

3 4 6 7 9 0 3 2
+ 2 7 4 5 b 9 8 9

6 2 i 3 6 0 2 1




Solving Word Problems

Solving word problems involving large numbers is the same as those involving small
numbers,

Read the problem carefully. Look for cue words and identify which operation should be
applied to solve the given problem.

The population of Delhi in the year 2014 has reached 1,7838,842, and the population of
Mumbai in the year 2014 has reached 1,26,55,220. What is the total population of Delhi
and Mumbai in the year 20147

Here, we need to find the total population of two cities. Hence, we will add to find the

answer.

Population of Delhi in 2014 = 1,78,38,842 CTLL T Th HT O
1 1 1 1

Population of Mumbai in 2014 = + 1,26,55,220 1 7 8 3 8 8 4 72

Total population = 3,04,94,062 +1 2 6 5 5 220
3 0 4 9 4 0 6 2

Subtraction of Large Numbers (up to 9-digit)
Subtraction of large numbers is the same as the subtraction of small numbers.

Let us see few examples of subtraction of large numbers.
Subtract 442,49,405 from 8,17,02,97 2.

C TL L TTh Th H T O
7 3% & ‘9 12 6 12
o PN s o

- 4 4 2 4 9 4 0 5
5 7 #4 & 8 § & 7

Hence, 8,17,02,972 - 4,42,49,405 = 3,74,53,567



Subtract 82,74,56,949 from 96,00,79,082.

TC € T L TTh Th H T O

5 9 10 H 10 7 12
" F & ¥ 7 ¥ Oy v oz

- 8 2 7 4 5 6 9 4 9
1 - 2 6 2 2 1 3 3

Hence, 96,00,79,082 - B2,74,56,949 = 13,2622,133

Solving Word Problems

Rajiv's father sold his old car and got ¥8,00,000. He decided to buy a new car with that
amount The new car which he liked was for ¥12,50,000. How much more money will he
have to pay to buy the new car?

T. L T Th H T 0
Cost of the new car = ¥12,50,000 1 2 5 0 0 o0 0
- 8 0 0 o0 0 0

Cost of the old car= ¥8,00,000 | 4 5 0 0 0 0 |

Money required to buy the new car ¥12,50,000 - ¥8,00,000 = ¥4,50,000




Class:5 Social studies Chap:2 latitude and longitude
A. Fill in the blanks.

1. North pole, south pole.

2. Parallel.

3. 360.

4. Equator.

5.181.

B. Underline the correct answer.
1. North.

2. Equator.

3. 23%degree N

4. South pole

5. Locate places.

C. Arrange the letter.

1. Prime meridian.

2. International date line.

3. Meridian

4. North pole.

5. Equator

D. Answer the following

1. Some important lines of latitudes are Equator, Tropic of Cancer, Tropic of Capricorn, Arctic
Circle and the Antarctic Circle

2. The imaginary lines of latitude and longitude intersect each other forming a grid that covers
the Earth. It can be used to locate any point on Earth.

3. The lines of latitude and longitude are important to quickly and accurately locate places and
features on the Earth's surface.

4. Meridian means a circle of constant longitude passing through a given place on the Earth

Edit with WPS Offics



surface. The meridian have noon at the same time i, e 12:00 noon. So this meridian are useful in
calculating to the east or west of prime meridian.

5. The latitude of North pole is 90 degree N and the latitude of the south pole is 90 degree S.

E. Match the following
1.E
2.D
3.B
4. A

5.C

Edit with WPS Offics



Class 5

Sub- computer

Chapter-1 ( Evolution of computer).

Tick(v') the correct answer

1. To which generation does the ENIAC belong?

Ans- a. First

2. The abacus was first developed in
Ans- b. China

3. Which of the following was used as an input device in second generation computers?

Ans- b. Punch card

Exercise corner(page 11)

A. Tick(V) the correct answer.
1.

Which is the first calculating device?

Ans- b. Abacus

Into how many generations are computer classified?

Ans- b. Five

Fourth generation computers use

Ans- c. Microprocessors

Desktop computer, laptops, palmtops and tablets are categories of
Ans- a. Microcomputer

B. Write T for true or F for false.

1. Ans-F
2. Ans-T
3. Ans-F
4. Ans-F
5. Ans—F

C. Name the following
1. The first calculating device Ans- Abacus
2. The first automatic calculating device. Ans- Difference engine
3. The first electronic computer. Ans- ENIAC
4. The first commercially available computer. Ans- UNIVAC
5. India’s first supercomputer Ans- PARAM

D. Answer these questions

1. Ans- In early times, people used fingers, stones and bones for calculations.
Later, the Chinese developed the Abacus which helped in counting large
numbers. It was made up of a wooden frame with rods. Each rod had a definite

number of beads. The abacus was the first calculating device.

Ans- The full forms of ENIAC is Electronic Numerical Integrator and Calculator and

the full form of UNIVAC is Universal Automatic Computer.
Ans- The characteristics of second generation computers are:

) They were smaller in size than the first generation computers.



) They used transistors instead of vacuum tubes.

) They could calculate data in microseconds.

V) They were costly.
Ans- The devices used for input and output processes in fourth generation
computers are keyboard, mouse, scanner for input and monitor, printer , speaker
for output.
Ans- Two examples of supercomputers are PARAM and PRITHVI and uses of
supercomputers are weather forecasting and earthquake studies.
Short notes

A) Abacus- The Chinese developed the Abacus which helped in
counting large numbers.

It was made up of a wooden frame with rods. Each rod had a
definite number of beads.

B) Artificial intelligence- A technology that enables a computer to think
like humans and perform humans like task such as voice
recognition, decision making and translation between languages.

C) Microcomputers- Microcomputers are small in size and less
expensive. They are also called personal computers as they are
designed for personal use.



Chapter -4
Parts of speech

B. Pick out the nouns, pronouns and adjectives in the sentences below and arrange them in columns as

shown:

1. |have brought some sweet mangoes for you.

2. The little girl wanted to swim in the deep pool.

3. Poonam is wearing a pretty, blue dress.

4. Are you invited to the grand party tonight?

5. I can see seven twinkling stars in the sky.

6. Indiais a rich country. It has many rivers and mountains.

7. There are six sweets left in the big jar.

8. The puppy is very weak. It needs food.

9. They had to go through narrow and dirty lanes.

10. She found an old book in the library.
No. Nouns Pronouns Adjectives
1 Mangoes |, you some , sweet
2 Girl,pool e deep, little
3 Poonam - preety, blue
4. Party you grand
5. Stars, sky I twinkling
6. India, Country, rivers, mountains it rich, many
7. Sweets,jar e big
8. Puppy, food it weak
9. Llanes they narrow , dirty
10. Book, library she old

C. In the following sentences, draw one line under the verb and two lines under the adverb:

Gopal swept the floor_carefully.
All the players have gathered outside.

An exciting match was played yesterday.
Gandhiji never told a lie.

The guests went upstairs or dinner.
The gatekeeper opened the gate guietly.
Anu worked hard for the examination.

O NV R WNR

The king was happy again.

D. In the following sentences, circle the interjections; draw one line under the prepositions and two lines
under the conjunctions:

1. Do not go near the cow or it may hurt you.



Umesh goes to school by bus but Vivek goes there on foot.
Please wait for me until | come back.

(Hurrah)! Both my sister and | have won prizes in a debate.
| know that she fond of music.

(Alas)! His car collided with a truck and he seriously injured.

No v s~wDN

If the question is difficult I shall explain it to you.

F. what parts of speech are the underlined words ?

My watch is running slow. Noun

Did you watch the cricket match on TV? Verb
Blue is my favorites colour. _Noun

| came_back after a little while. Adverb

The back door was left open. Adjective

Put all this language_ inside. Adjective

There was no body inside the hall. Preposition
| will wait for you outside the school._Verb

Lo N R WNE

Anu danced beautifully at the party. Adverb
10. Every admired her_extraordinary talent. Adverb

G. Read the following passage and write what parts of speech the underlined words are:

Mr Smith plans (Verb) to take his family to a movie today. So they are all getting ready. His son John is
taking his bath (verb). But he has forgotten his towel. Mrs. Smith is using an electric_iron (Noun) to iron
(Verb) John's shirt. Little Mary seems to be unhappy. She wants to colour (Adjective) some pictures. But
she has no colours (Noun). The servant has gone has gone to the theatre to book seats for Mr. Smith
and his family. Mr. Smith says they will walk (Verb) to the theatre. But Mrs. Smith thinks that it is a long
walk (adverb) and they are already late. So they should take a taxi.




Chapter -4

Parts of speech

B. Pick out the nouns, pronouns and adjectives in the sentences below and arrange them in columns as

shown:

| have brought some sweet mangoes for you.

The little girl wanted to swim in the deep pool.

Poonam is wearing a pretty, blue dress.

Are you invited to the grand party tonight?

| can see seven twinkling stars in the sky.

India is a rich country. It has many rivers and mountains.
There are six sweets left in the big jar.

The puppy is very weak. It needs food.
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They had to go through narrow and dirty lanes.
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. She found an old book in the library.
No. Nouns Pronouns
1 Mangoes I, you
2 Girl,pool e
3 Poonam e
4. Party you
5.  Stars, sky |
6. India, Country, rivers, mountains it
7. Sweets,jar e
8. Puppy, food it
9. Lanes they
10. Book, library she

Adjectives
some , sweet

deep, little
preety, blue
grand
twinkling
rich, many
big
weak
narrow , dirty
old

C. In the following sentences, draw one line under the verb and two lines under the adverb:

Gopal swept the floor carefully.
All the players have gathered outside.

An exciting match was played yesterday.
Gandbhiji never told a lie.

The guests went upstairs or dinner.

The gatekeeper opened the gate guietly.
Anu worked hard for the examination.
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The king was happy again.

D. In the following sentences, circle the interjections; draw one line under the prepositions and two lines

under the conjunctions:

1. Do not go near the cow_or it may hurt you.



Umesh goes to school by bus but Vivek goes there on foot.
Please wait for me until | come back.

(Hurrah)! Both my sister and | have won prizes in a debate.
| know that she fond of music.

(Alas)! His car collided with a truck_and he seriously injured.
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If the question is difficult | shall explain it to you.

F. what parts of speech are the underlined words ?

My watch is running slow. Noun

Did you watch the cricket match on TV? Verb
Blue is my favorites colour. _Noun

| came_back after a little while. Adverb

The back door was left open. Adjective

Put all this language_ inside. _Adjective

There was no body_inside the hall. Preposition
| will wait for you outside the school. Verb
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Anu danced beautifully at the party. Adverb
10. Every admired her extraordinary talent. Adverb

G. Read the following passage and write what parts of speech the underlined words are:

Mr Smith plans (Verb) to take his family to a movie today. So they are all getting ready. His son John is
taking his bath (verb). But he has forgotten his towel. Mrs. Smith is using an electric iron (Noun) to iron
(Verb) John's shirt. Little Mary seems to be unhappy. She wants to colour (Adjective) some pictures. But
she has no colours (Noun). The servant has gone has gone to the theatre to book seats for Mr. Smith
and his family. Mr. Smith says they will walk (Verb) to the theatre. But Mrs. Smith thinks that it is a long
walk (adverb) and they are already late. So they should take a taxi.




CLS-V(THE FRIENDSHIP)
CHAPTER-2
A. TICK THE CORRECT ANSWERS.(ONLY ANSWER)
(a) cricket.
(b) they had no common interests.
(c) had to spend more time in practice.
b) snow-white cheetah.

(
(c) lioness.
(c) we can make friends even with people who are very different from us.

1.
2.
3.
4.
5.
6.
B. WHO SAID THESE WORDS AND WHY ?(ONLY ANSWER)

1. Tilak said these, because Sudhir does not have interest in playing games.

2. Tilak's friend said these, because Tilak fell and fractured his leg and couldn't play cricket.

3. Tilak said these, because Sudhir told him the story of Pippa which Tilak liked and wanted to
have a pet.

4. Tilak's mother said these,due to his broken leg, they became good friends even though they
have different interests.

E. MATCH THE PEOPLE WITH THE PLACES.
1. Photographer ......... (f) Studio

2. Judge........... (e) courtroom

3. Usher....... (d) theatre

4. Surgeon......... (b) hospital

5. Chef............. (a) restaurant

6. Mechanic.... (c) workshop

F. TICK THE CORRECT WORDS THAT DESCRIBE THE SOUNDS MADE BY THESE
ANIMALS.(ONLY ANSWER)

1. Twitter.

2. Squeak.

3. Roar.

4. Bleat.

G. Circle the correctly spelt words in these pairs.(only answer)
. Accidentally.

. Experience.

. Business.

. Committee.

. Intelligence.

. Possession.

. Pronunciation.
. Disappointed.
. Necessary.

1
2
3
4
5
6
7
8
9
10. Questionnaire.
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